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+̀4,5689$4+ß85,$:.$:$.I8+,38=8I$@:.8.$=54$4+ßS9:385,$5=$+I595ß8I:9J$+I5,5T8I$:,;$.5I8:9$;+?+956T+,3$5=$37+$4+ß85,»$35$
5==+4$T+:.S4+.$5,$5638T:9$9:,;.I:6+[+I595ß8I:9$54ß:,8R:385,$5=$37+$3+448354-$5=$37+$8,?+.38ß:3+;$4+ß85,($

7̀+$:S3754.$:6698+;$37+$T+375;.$5=$I:435ß4:678I$;+.8ß,J$ß+5+I595ß8I:9$+?:9S:385,$:,;$:,:9-.8.$5=$37+$9+?+9$5=$
:,374565ß+,8I$34:,.=54T:385,$5=$37+$9:,;.I:6+.$U@-$T+375;595ß-$5=$>(a78.3I+,/5[O(05=T:,W($$

7̀+$ß45à37$5=$37+$3+I7,595ß8I:9$8,=9S+,I+$5,$37+$,:3S4+$7:.$645?5/+;$;8==+4+,3$+I595ß8I:9$645@9+T.$8,I9S;8,ß$
+,?845,T+,3:9$6599S385,$:,;$9:,;.I:6+$;+ß4:;:385,($̀7+$I7:,ß8,ß$5=$;8==+4+,3$+,?845,T+,3:9$I5T65,+,3.$@+I:S.+$5=$
+I5,5T8I$:I38?83-$645?5/+.$37+$;+.34SI385,$5=$37+$,:3S4:9$T+I7:,8.T$5=$83.$4+ß+,+4:385,($̀7+$4+.S93$5=$.SI7$
34:,.=54T:385,$8.$37+$+á7:S.385,$5=$T:,-$/8,;.$5=$,:3S4:9$4+.5S4I+.$à78I7$:4+$37+$=5S,;:385,$5=$8,;S.348:9$:,;$
:ß48IS93S4:9$645;SI385,$:,;$4+I4+:385,$;+?+956T+,3($̀7+$+?:9S:3+;$5=$9+?+9$5=$:,374565ß+,8I$34:,.=54T:385,$5=$
9:,;.I:6+.$I:,$@+$S.+;$:.$=S,;:T+,3:9$=54$I:9IS9:385,$5=$+I5,5T8I$64+..S4+$8,3+,.83-$35$.+IS4+$+,?845,T+,3:9$
6453+I385,($

7̀+$;+ß4++$5=$:,374565ß+,8I$34:,.=54T:385,$5=$9:,;.I:6+.$@-$37+$3-6+.$5=$S.8,ß$5=$,:3S4:9$4+.5S4I+.$8.$+?:9S:3+;$
:,;$:,:9-R+;($̀7+$T:6$5=$3+4483548:9$;8==+4+,I+.$5=$9+?+9$5=$:,374565ß+,8I$34:,.=54T:385,$5=$37+$ß+5.-.3+T.$5=$̀+4,5689$
4+ß85,$8.$I5T65.+;($

7̀+$8,;+á$5=$:,374565ß+,8I$34:,.=54T:385,$I7:4:I3+48R+.$37+$I5T@8,+;$8,=9S+,I+$5=$37+$:,374565ß+,8I$:I38?83-$5,$:$
ß+5.-.3+T($̀7+4+$:4+$=5S4$3-6+.$5=$9:,;.I:6+.$I:,$@+$;8.38,ßS8.7+;$5,$37+$3+448354-$5=$̀+4,5689$4+ß85,$8,$:II54;:,I+$
à837$;+ß4++$5=$ß+5.-.3+Tâ.$34:,.=54T:385,$:,;$64+?:898,ß$3-6+$5=$S.8,ß$5=$,:3S4:9$4+.5S4I+.D$

KW$T8;;98,ß$:,;$8,.8ß,8=8I:,39-$I7:,ß+;$9:,;.I:6+.$5=$=54+.3$7899-$;8.348I3.$à837$37+$64+?:898,ß$=54+.34-$:,;$
I5,.+4?:,I-$U�¢3$º$9+..$37:,$dJ'W»$$

%W$T8;;98,ß$:,;$78ß7+4$T8;;9+$34:,.=54T+;$9:,;.I:6+.$5=$48?+4$?:99+-.$à837$37+$64+?:898,ß$6:.3S4+$3-6+$5=$S.8,ß$5=$
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$ %&'$

()*$(*++,(-+.$/01(234567489:$$
&9$),;)*+$<,==>*$?@=$ABCA(?@(,?>>.$D)?@;*=$>?@=AD?E*A$-F$<?,@>.$F>?($G?(*+A)*=$(*++,(-+,*A$G,()$()*$E+*H?,>,@;$

?;+,DB>(B+?>$(.E*$-F$BA,@;$-F$()*$(*++,(-+.$/01(25456I439:$$
J9$ABE*+F>B-BA>.$(+?@AF-+<*=$>?@=AD?E*A$-F$()*$B+C?@,K*=$(*++,(-+,*A$/01($2$I486L439$C*D?BA*$-F$,@F>B*@D*$-F$<-A(>.$

,@=BA(+.$?@=$(+?@AE-+(M$
N,A(+,D(,@;$-F$()*$(*++,(-+.$-F$O*+@-E,>$+*;,-@$?F(*+$()*$=*;+**$-F$?@()+-E-;*@,D$(+?@AF-+<?(,-@$?@=$?@?>.A,A$-F$

>?@=AD?E*AP$(+?@AF-+<?(,-@$G,(),@$@?(B+?>$=,A(+,D(A$/?F(*+$QM$R*+*@D)BS9$A)-GA$()?($ABE*+F>B-BA>.$(+?@AF-+<*=$?+*$
>?@=AD?E*A$-F$O*+@-E,>4$T?@-H*(AS.$?@=$UBA.?(.@AS.$@?(B+?>$=,A(+,D(AM$O)*$,@=*V$-F$?@()+-E-;*@,D$(+?@AF-+<?(,-@$
*WB?>A$?DD-+=,@;$(-$7454$747$?@=$74&M$X;+,DB>(B+?>$>?@=AD?E*A$E+*H?,>$G,(),@$()*$>,<,(A$-F$()*A*$=,A(+,D(A$/?C-B($L8$
E*+D*@(A$-F$(*++,(-+.$?+*$-DDBE,*=$C.$E>-B;)6>?@=9M$O)*$>?@=AD?E*A$-F$O-H(+.$),>>A$/*VD*E($()*$(*++,(-+.$-F$@?(B+?>$+*A*+H*$
-F$YZ*=-C-+.[9$?@=$()*$E-->$-F$$N@,A(*+$?+*$),;)*+$<,==>*$>*H*>$(+?@AF-+<*=$/01($2$5476$54L9M$O)*$>?@=AD?E*A$-F$\<?>>$
]->*A.*$/01̂$2$34794$Q+*<*@*(DS.$),>>.$F-+*A($=,A(+,D($/01̂$2$54J94$_*+*K)?@AS.$),>>.$F-+*A($=,A(+,D($/01̂$2$54'9$?@=$
Z-@?A(*+.AS.$),>>.$F-+*A($=,A(+,D($/01̂$2$5439$?+*$<,==>,@;$(+?@AF-+<*=M$̀-@A,=*+?C>*$E?+($,@$()*$A(+BD(B+*$-F$()*$>?@=*=$
FB@=$-F$()*A*$=,A(+,D(A$,A$E+*A*@(*=$C.$()*$F-+*A(AM$

$O)*$>*H*>$-F$*D->-;,D?>$/AE?(,?>>.6>?@=AD?E*9$D-<F-+($-F$>,H,@;$-F$E-EB>?(,-@$,A$*H?>B?(*=M$O)*$G?.A$-F$
-E(,<,K?(,-@$-F$()*$A(+BD(B+*$-F$()*$(*++,(-+,?>$BA?;*$,@$()*$+*;,-@$?+*$;+-B@=*=:$-E(,<?>$E?+?<*(*+A$-F$>?@=$A(+BD(B+*$?+*$
D-B@(*=M$

abcdefghi$?@()+-E-;*@,D$(+?@AF-+<?(,-@4$;*-A.A(*<4$BA,@;$@?(B+?>$+*A-B+D*A4$-E(,<,K?(,-@M$
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